pending more money than you earn is usually a bad
*) idea. But what if you face an unexpected need for
more cash than you have? How do you decide whether
you should borrow money or not spend the money at all?
The federal government deals with this dilemma every
year when it prepares its budget. Sometimes borrowing
money is the best choice for the economy. Other times,
borrowing money causes more problems than it solves.
All debts must be repaid, sooner or later.
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Jbjectives
After studying this section you will be able to:

1. Describe how the government uses fiscal
policy as a tool for achieving its economic
goals.

2. Explain how the government creates the
federal budget.

3, Analyze the impact of fiscal policy decisions
on the economy.

1. ldentify the limits of fiscal policy.

Section Focus

The federal government takes in
money for the budget through

taxation and borrowing. The fiscal year

decisions the government makes Office of Management
about taxing and spending can have and Budget (OVIB)
a powerful impact on the overall Congressional Budget
economy. Office {CBO)

appropriations hill
expansionary policies
contractionary policies

Key Terms

fiscal policy
federal budget

he word fiscal comes from the Latin
word fisc, which means “basket” or
“bag.” Over time, the word came to be
tinked with a bag of money. Specifically, it
meant the “bag,” or pool, of money held
by the government. In Chapter 14, you
read about how the government collects
money, primarily through taxes, and how
the government spends its money on a wide
variety of programs. In this section you will
read about fiscal policy. Fiscal policy is the
use of government spending and revenue
collection to influence the economy.

+iscal Policy as a Tool

As you learned in Chapter 14, the federal
government takes in and spends huge
amounts of money. The federal govern-
ment spends about $200 million every
hour, $4.8 billion every day, and about $2
iritlion a year. The tremendous flow ot cash
1ato and out of the economy has a large
impact on aggregate demand and supply in
the economy.

Fiscal policies are used to achieve
economic growth, full employment, and
price stability. Fiscal policy decisions—how
much to spend and how much to tax—are

among the most important decisions the

federal government makes. These decisions !
are made each year during the creation of .
the federal budget. ‘

e vadoral Surdge:
The federal budget is a written document
indicating the amount of money the

government expects to receive for a certain
year and authorizing the amount the

RS

A As part of its budget, the fed

fiscal policy the use of
government spending
and revenue collection
to influence the .
economy

federal budget a plan
for the federal
government's revenues
and spending for the
coming year

eral government spends hillions of dollars

each year on national defense, including items such as the F-15 fighter jet,

Chapter 15 @ Section 1
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Federal agencies send requasts for money to the
Office of Management and Budget.

The Office of Managemient and Budget works with
the President to create a budget. In January or
February, the President sends this budget to

Congress.

/

Congress makes changes to the budget and sends
this new budget to the President.

The President signs the budget
into law,

- !

The President vetoes the
budget. |f Congress cannot
get a £ majority to override the
President's veto, Congress
and the President must work
together to create a new,
compromise, budget.

\LOiy . Congress and the White House work together over the

R

fiscal year a twelve-
month period that can

beain on any date

Oifice of Management
and Budget (OMB)
government office that
manages the federal
budget

Congressional Budget
Office {CBO)
government agency
that provides
economic data to

Congress
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S course of the year to put together a federal budget.
. _2) Governmant Who takes the first step in the budget
PEREED process?

government can spend that year. The
federal budget is just a plan to pay for the
federal government’s expenditures. Much
like a family’s budget, it lists expected
income and shows exactly how the money
will be spent.

The federal government prepares a new
budget for each fiscal year. A fiscal year is a
twelve-month period that is not necessarily
the same as the January-to-December
calendar year. The federal government uses

a fiscal year that runs from October 1
A b Caasamnbas 20

-

The federal budget takes about 18
months to prepare. During this time,
citizens, Congress, and the President debate
the government’s spending priorities. There
are four basic steps in the federal budget
process.

Spending Proposals
The federal budget must fund many offices
and agencies in the federal government,

and Congress cannot decide all of their
needs. Before the budget can be put
together, each federal agency writes a
detailed estimate of how much it expects to
spend in the coming fiscal year.

These spending proposals are sent to a
special unit of the executive branch, the
Office of Management and Budget (OMB). The

OMB is part of the Executive Office of the

President. As its name suggests, the OMB is
responsible for managing the federal
government’s budget. Its most important
job is to prepare the federal budget.

In-the Exasuiive Bransh

The OMB holds several meetings to review
the Federal agencies’ spending proposals.
Representatives from the agencies must
explain their spending proposals to the
OMB and convince the OMB to give them
as much money as they have asked for.
Usually, OMB gives each agency less than
they say they need.

The OMB then works with the Presi-
dent’s staff to combine all of the individual
agency budgets into a single budget
document. This document gives the Presi-
dent’s overall spending plan for the coming
fiscal year. The President presents the
budget to Congress in January or February.

In Congyrass

The President’s budget is only a starting
point, and the number of changes Congress
makes depends on the relationship between
the President and Congress. Congress care:
fully considers, debates, and modifies the
President’s proposed budget. For help,
members of Congyess rely on the assistance
of the Congressional Budget Office (CB0).
Created in 1974, the CBO gives Congress
independent economic data to Detp wiew it
decisions. ‘

Much. of the work done by Congrs5—
the House of Representatives and the
Senate—is done by small committees.
Working at the same time, in different
houses of Congress, committees in the
House and Senate analyze the budget and
hold hearings at which agency officials and
others can speak out about the budget. The




House Budget Committee and Senate
Budget Committee combine their work to
propose one initial budget resolution,
which must be adopted by May 15 of the
year. This resolution is not intended to be
final, but gives initial estimates for revenue
and spending to guide the legislators as
they continue working on the budget.

Then, in early September, the Budget
Committees for each house of Congress
propose a second budget resolution that
sets binding spending limits. Congress must
pass this resolution by September 15, after
which Congress cannot pass any new bills
that would spend more money than the
budget resolution allows.

Finally, the Appropriations Committees
for each house submit bills to authorize
specific spending. By this time, the new
fiscal year is about to start and Congress
faces pressure to get these appropriations hills
adopted and submitted to the President
quickly before the previous year’s funding
2nds on September 30. If Congress cannot
finish in time, it must pass short-term
emergency spending legislation known as
“stop-gap funding” to keep the government
running. If Congress and the President
cannot even agree on temporary funding,
the government “shuts down” and all but
the most essential federal offices will close.

iy the YWhite House

Congress sends the appropriations bills to
the President, who can sign them into law.
If he vetoes any of these bills, Congress
must either come up with enough votes to
override the veto—usually, this is impos-
sible—or work with the President to write
an appropriations bill on which both sides
can agree. Once that is completed, the
rresident signs the new budget into law.

Fiscal Policy and
the Economy

Government officials who take part in the
budget process debate how much should
be spent on specific programs such as
- defense, educ‘ation, and scientific research.

They also consider how much should be
spent in total. The total level of govern-
ment spending can be changed to help
increase or decrease the output of the
economy. Similarly, taxes can be raised or
lowered to help increase or decrease the
output of the economy.

Fiscal policies that try to increase output
are known as expansionary policies. Fiscal
policies intended to decrease output are
called contractionary policies. By carefully

choosing to follow expansionary or

contractionary fiscal policies, the federal
government tries to make the economy run
as smoothly as possible.

expansionary Fiscal Policies
fiscal

Governments use expansionary

policies to raise the level of output in the
economy. That is, they use expansionary
policies to encourage growth, either when °
the the economy is in_a recession or. or 0 try to
‘prevent a recession. Recall from Chapter 12 j
that a recession is the part of the business

appropriations hill a
bifl that sets money
aside for specific
spending

expansionary policies
fiscal policies, like
higher spending and
tax cuts, that
encourage economic
growth

contractionary policies
fiscal policies, like
lower spending and
higher taxes, that
reduce economic
growth

High
prices Aggregate
supply
TR P
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higher prices I+
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The goal of
expansionary fiscal
policy is to add
money to the
eConomy.
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might cutting taxes
have similar effects
to those shown in the
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cycle that occurs when output declines for
two quarters, or three-month periods, in a
row. Expansionary fiscal policies fall into
either or both of two categories: increasing
government spending and cutting taxes.

Increasing Bovernmant Spaading

If the federal government increases its
spending or buys more goods and services,
it triggers a chain of events that raises
output and creates jobs. Government

spending increases aggregate demand,’

which causes prices to rise. (See Figure 15.2.)
According to the law of supply, higher
prices encourage suppliers of goods and
services to produce more. To do this, firms
will hire more workers. In short, an increase
in demand will lead to lower unemploy-
ment and to an increase in output, as shown
in Figure 15.3. The economy will be
encouraged to expand.

Rt IR G

Tax cuts work much like higher govern-
ment spending to encourage the economy
to expand. If the federal government cuts
taxes, individuals have more money to

To expand the economy, the governrﬁent
buys more goods and services.

ot

v
Companies that sefl goods to the
government earn profits, which they use to
pay their workers and investors more and
to hire new workers.

FRY/
4

Workers and nvestors have more nmoney
and spend more in shops and restaurants.

v

Shops and restaurants buy more goods
and hire more workers to meet their needs. .

In the short term, government spending
leads to more jobs and more output.

spend, and businesses keep more of their

profits. Consumers will have more money -

to spend on goods and services, and firms
will have more money to spend on land,
labor, and capital. These actions will
increase demand, prices, and output.

Contractionary
fiscal Policies
At some stages in the business cycle, the
government may choose contractionary
fiscal policies. Contractionary fiscal policies
try to decrease aggregate demand, and by
decreasing demand, reduce the growth of
economic output. If contractionary fiscal
policies are strong enough, they may slow
the growth of output to zero, or even lead
to a fall in GDP.

The government sometimes tries to slow
down the economy because fast-growing
demand can exceed supply. When demand

If producers cannot expand production
enough, they will raise their prices, which
Jeads to high inflation. As you read in
Chapter 12, inflation is an increase in
prices over time. Inflation cuts into
consumers’ purchasing power and discour-
ages economic growth and stability. Fiscal
policies aimed at slowing the growth of
total output generally fall into either or
both of two categories: decreasing govern-
ment spending and raising taxes.

Decreasing Government Spending

If the federal government spends less, or
buys fewer goods and services, it triggers a
chain of events that may lead to slower
GDP growth. A decrease 1n goveriuneit
spending leads to a decrease in aggiegat®
demand because the government is buying
Jess than before. Decreased demand tends
to cause lower prices. According to the law
of supply, lower prices encourage suppliers
to cut their production and possibly fire
workers. Lower production lowers the
growth rate of the economy and may even
reduce GDP.




This chain of events is the exact opposite
of what happens when the government
increases spending. The government uses
the same tools to try to influence the
economy in both cases, but in different
ways, and with very different goals.

Incraasing Taxes

When the federal government raises taxes,
individuals have less money to spend on
goods and services or to save for the future.
Firms keep less of their profits and decrease
their spending on land, labor, and capital.
As a result of these decreases in demand,
prices tend to fall. Producers of goods and
suppliers of services tend to cut production.
This slows the growth of GDP.

Jmits of Fiscal Policy

On paper, fiscal policies look like powerful
tools that can keep the economy in perfect
balance. In reality, fiscal policies can be
~lumsy and difficult to put into practice.

Hisenity of Chanying Speniing Lavals
Increasing or decxeasmg the amount of
federal spending is not an easy task. As you
read in Chapter 14, many of the spending
categories in the federal budget are entitle-
ments that are fixed by law. Nearly 60
percent of the federal budget is set aside for
programs such as (Medicaid, ¥ ¥ Social

¢ Secunt?y and veterans™ A?C{,ﬁts_ before
Congress even begins the budget process.
The government cannot change spending
for entitlements under current law. As a
result, significant changes in federal
spending generally must come from the
small part of the federal budget that
includes discretionary spending, This gives
e government less leeway tor increasing
or lowering spending.

Predicting the Future

Governments use fiscal policies to prevent
big changes in the level of GDP. Despite the
statistics, however, it is difficult to know
the current state of the economy. As you
read in Chapter 12, no one can predict how
quickly the business cycle will move from

Hi
pri%}:es Aggregate
supply
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demand with i
lower government
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prices S ementn e
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Total output in the economy

economic gmwth

e spendmg affect éqt.uhbnum?

one stage to the next, nor can anyone
identify exactly where the economy is at {
any specific point in the cycle. Economists
often disagree about the meaning of statis-
tics, whether they show the economy is in :
good condition or ready for a recession.

Predicting future economic performance
is even more difficult. As a result,
lawmakers may put off making changes in
fiscal policy until they know more about
how the economy is performing. By then, it
may be too late to act.

In addition, when lawmakers put fiscal
policies in place, they base their decisions
partly on the past behaviors of individuals.
It is risky to assume that peovle will. for
example, respond the same way to a tax |
cut in the future as they have in the past.

Delayed Results

Although changes in fiscal policy affect the
economy, changes take time. Once govern-
ment officials decide when and how to
change fiscal policy, they have to put these
changes into effect within the federal
budget, which itself takes over a year to

Chapter 15 1 Section 1
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_\ Cutting govern-
meni spending is
difiicuit because
some voters will

usualiy ebject to cuts i

that impact their
interests.
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develop. Finally, they have to wait for the
change in spending or taxing to affect the
economy.

By the time the policy takes effect, the
economy might be moving in the opposite
divection. The government could propose
massive public spending on highways in the
middle of a recession, only to have the
economy recover before construction
begins. In these cases, fiscal policy would
only add to the new trend, instead of
correcting the original problem. If the
government continued to spend lots of

E}‘{,tv)ef'lmenfmg in Japan Japan has used expansionary fiscal
po.ilmes in recent years to try to end an economic stump. When real estate
Pnces and stszk prices decreased sharply in Japan in the early 1990s,
mve'stors, businesses, and banks lost much of their wealth. Consumers and
PUS"\ESSGS spent fess, and banks could not afford to lend money for new
{nvestment, so the economy suffered. The Japanese government hastried to
increase demand by spending money on new roads, government-sponsored’
1u'ans, and TaX cuts. Between 1992 and 1999, the government passed nine major
bills sp’en('img a total of $1.1 trillion, or nearly $30,000 for every man,Awoman,
and child in Japan. After eight years of slow or negative growth, the Japanese
economy appeared to be growing more quickly at the end of the decade.
However, the government had to borrow heavily to pay for its programs.
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money on highways in the
middle of a recovery, it could
fead to high inflation and a
labor shortage.

Political Pressures

The President and members of
Congress, who develop the
federal budget and the federal
government’s fiscal policies, are
clected officials. If they wish to
be reelected, they must make
decisions that benefit the people
who elect them, not necessarily
decisions that are good for the
overall economy.

For example, government
officials have an incentive to
practice expansionary {iscal
policies by increasing govern-
ment spending and lowering
taxes. These actions are usually popular
with voters, although in Section 3 you will
read about why some people disapprove of
government spending. Governiment
spending benefits the firms that receive
government contracts and the individuals
who receive direct payments from the
government, Lower faxes leave more
disposable income in people’s pockeis.

On the other hand, contractionary fiscal
policies that decrease government spending
or raise taxes are often unpopular. Firms
and individuals that expect income from
the government are not happy when the
income is reduced or cut off. No one likes
to pay higher taxes, unless the tax revenue
is spent on a specific, highly valued good
or service.

P arfinntinn Fienal Policy

For fiscal policies to be effective, varlow
branches and levels of government must
plan and work together. This is very diffi-
cult to do. For example, if the federal
government is pursuing contractionary
policies, ideally state and local gover™
ments should pursue consistent fisca
policies. Yet, state and local governments
may be pursuing different goals for fiscal
policy than the federal government:




Businesspeople, politicians, and economists
often disagree about how well the economy
is performing, and what the goals of the
fiscal policy should be.

Also, different regions of the economy
can experience very different conditions.
California and Hawaii may have high
unemployment while Nebraska and
Massachusetts face rising prices and a
labor shortage.

In addition, in order for the federal
government’s fiscal policy to be effective, it
must also be coordinated with the
monetary policies of the Federal Reserve.
You’ll read more about monetary policy in
ihe next chapter.

Even when all of these obstacles are
overcome, fiscal policy faces still another
limitation. The short-term effects of fiscal
policy can be different from the long-term
effects. A tax cut or increased government
spending will give a temporary boost to
economic production and to employment.
tlowever, as the economy returns to full
employment, high levels of government
spending combined with market spending
will lead to increased inflation as the
economy overheats.

Similarly, an increase in taxes or a
decrease in government spending may

Key Terms and Main ldeas

1. Explain fiscal policy and how it relates to the federal

hudget.

2. When does the federal government’s fiscal year begfn?
3. What role does the Office of Management and Budget 7

(OMB) play in creating the federal budget?

4. vwvnatare two types of expansionary poiicies?
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5. Critical Thinking Explain how a tax cut éan leadto a

higher GDP in the shart run.

“cool” the economy and lead to a reces-
sion. However, in the long run, reduced
government spending will allow other
types of spending to increase without
risking inflation. If there is more invest-
ment spending, this could lead to higher
growth in the long run. In this way, slow
growth or even recession in the short term
can lead to prosperity in the future.

'
i
1
i
|

-4 New community-
built pools, like this
one in California,
have an economic
impact on the local
level.

6. Try This Which fiscal policy strategy do you think

policymakers would use in each of these scenarios?
Explain your answers. {a} Inflation is rising, and real GDP
is up by 4 percent. (b) GDP is down, and the unemploy-
ment rate has increased to 10 percent.

Using the Datahank The Consumer Confidence Index

measiirac hmar natimietie Amarinan FAPTIE A A gl

the economy will do well. The graph on page 539 o-f the

Databank measures consumer confidence in the 1990s.
If you had been a policymaker in 1998, would you have

policies? Explain your answer.

recommended expansionary or contractionary fiscal

Take it to
the NET

SEVSTEDLTEN,

yourself, and then describe the ex
Social Studies area at the followin

-www.phschool.com

Creating and maintaining the federal budget is an important task. Try to manage the budget
perience in a brief paragraph. Use the links provided in the
g Web site for help in completing this activity.
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Nbjectives
After studying this section you will he able to:

1. Compare and contrast classical economics
and Keynesian economics.

2, Explain the basic principles of supply-side
economics,

3. Understand the role that fiscal policy has
played in American history.

“Tor thousands of years, governments

have collected taxes and spent money.
Until the 1930s, however, most economists
believed that a government should keep its
role in the economy small. These econo-
mists belonged to a school of thought
called classical economics.

shssical Economics
Throughout this book, you have read about
the workings of a free market economy. In
a free market, people act in their own self-
interest, causing prices to rise or fall so that
supply and demand will always return to
equilibrium. This idea that free markets
regulate themselves is at the heart of a
school of thought known as classical
economics. Adam Smith, David Ricardo,
and Thomas Malthus are all considered
classical economists. For more than a
century, classical economics dominated
economic theory and government policies.
The Great Depression that began in
1929 challenged this thinking. Prices fell
over several 'years, so demand should have
increased enough to stimulate production
as consumers took advantage of low prices.
Instead, demand also fell as people lost
their jobs and bank failures wiped out their
savings. According to classical economics,

~

Section Focus Key Terms

Fiscal policy is the use of government classical economics

spending and taxes to work toward productive capacity

low unempleyment, low inflation, and demand-side

steady economic growth. Keynesian economics

economic theories and supply-side Keynesian economics

economic theories suggest two very multiplier effect

different ways for government to automatic stabilizer

encourage growth. supply-side economics
Council of Economic

Advisers (CEA)
the market should have reached equilib- : classical economics

rium, with full employment. But it didnt, ' e /dea thatfree
d milli fered fr loviment markets can regulate
and millions suffered from unemployment o oo
and other hardships. Many people were
too poor to buy enough food for their
families, while farmers lost their farms

. B T o
because corn was selling for seven cents a 7 The economic

hardships brought

bushel, beef for two and a half cents a " about by the Great
pound, and apples were five for a penny. | Depression chal-

lenged the ideas of
classical economics,
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praductive capacity
the maximum output
that an economy can
produce without big
increases in inflation

demand-side
economics the idea
that government
spending and tax cuts
help an economy by
raising demand

Keynesian economics
a form of demand-side
economics that
encourages
government action to
increase or decrease
demand and output

The Great Depression highlighted a
problem with classical economics: it did not
address how long it would take for the
market to return to_equilibrium. Classical
economists recognized it could take some
time, and looked to the “long run” for equi-
librium to reestablish itself. One economist,
who was not satisfied with the idea of
simply waiting for the economy to recover
on its own, commented: “In the long run
we are all dead.” That man was John
Maynard Keynes (pronounced CANES).

Kaynesian E50N0MIGS

British economist John Maynard Keynes
developed a new theory of economics to
explain the Depression. Keynes presented
his ideas in 1936 in a book called The
General Theory of Employment, Interest,
and Money. He wanted to develop a
comprehensive explanation of economic
forces. Such an explanation should, he
argued, tell economists and politicians how
to get out of economic crises like the Great
Depression. It should also tell them how to
avoid crises in the first place. In sharp
contrast to classical economics, Keynes
wanted to give government a tool it could
use now, in the short run.

High
output

Praductive capacity

Quiput

In a recession or depression,
businesses and consumers
do not demand as much as
|| the economy can produce.

‘,-‘.' PaAA s !4‘,!’1 ’h ‘1*‘
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government spending can
bring the economy up to its
productive capacity.
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Keynes added government spending to the classical
model of demand.

Government What role did Keynes envision for
government in the economy?

A Broader View
A key to Keynes’s ideas was a broader view
of a country’s economy. Classical econo-
mists had always looked at the equilibrium
of supply and demand for individual
products. In contrast, Keynes focused
instead on the economy as a whole.
Keynes looked at the productive capacity

of the entire economy. Productive capacity,

often called full-employment output, is the
maximum output that an economy can
sustain over a period of time without
increasing inflation. Keynes attempted to
answer the -difficult question posed by the
Great Depression: why does the aciual
production in an economy sometimes fall
far short of its productive capacity?
Keynes argued that the Great Depression
was continuing because neither consumers
nor businesses had an incentive to spend

enough to cause an increase in ‘production.
After all, why would a company spend
money to increase production when no one
had enough money to buy its products?
How could unemployed consumers spend
money they didn’t have? The only way to
end the Depression would be if someone,

somewhere, started spending.

A Naw Role for Governmeant

Keynes thought that the spender should be
the government. In the early 1930s, only
the government still had the resources to
spend enough to affect the whole economy.
In effect, the government could make up

for the drop in private spending by buying.

goods and services on its own. This, Keynes
argtied, would encourage production and
increase employment. Then, as people went
back to work, they would spend their
wages on more goods and services, leading
to even higher levels ot production. 11
ever-expanding cycle would carry the
economy out of the depression, and the
government could then step back and
reduce its spending. This is known as
demand-side economics because it involves
changing demand to help the economy.
These ideas form the basis of Keynesian
economics. Keynesian economics is basically
the idea that the economy is composed of




three sectors—individuals, business, and
government—and that government actions
can make up for changes in the other two.
Keynesian economics proposes that by
using fiscal policy the government can, and
should, help the economy.

Avoiding Recessions and Dapressions
Keynes argued that fiscal pohcy can be used
to fight the two fundamental macroeco-
nomic problems. These two opposing
problems are periods of recession/depres-
sion and periods of inflation.

The federal government, Keynes argued,
should keep track of the total level of
spending by consumers, Igusmesses _and
government—in--the -economy. If total
spending begins to fall far below the level
required to keep the economy running at
full capacity, the government should watch
out for the possibility of an upcoming
zecession or depression.

The government can respond by
increasing its own spending until spending
oy the private sector returns to a higher level,
Or, it can cut taxes, so that spending and
investment by consumers and businesses
increases. As you read in the previous
section, raising government spending and
cutting taxes are expansionary fiscal policies.

President Franklin D. Roosevelt carried
out expansionary fiscal policies after his
election in 1932. His New Deal put people
to work building dams, planting forests,
and constructing schools across the country,
all paid for by the government.

Many people argue that instead of
creating new jobs, such public works
projects only shift employment from the
private to the public sector. The taxes
required to pay for them reduce demand in
tite private sector as much as they increase
it in the public sector. In addition, work
relief jobs are less productive than private
sector jobs because their goal is employ-
ment, not efficient production.

Controlling Inflation

Keynes also argued that the government
could use a contractionary fiscal policy to
prevent inflation or reduce its severity. The

government can reduce inflation either by
increasing taxes or by reducing its own
spending. Both of these actions decrease
overall demand.

e Mluiiplier Silact

Fiscal pohcy, although difficult to control,
is an extremely powerful tool. The key to
its power is the multiplier effect. The multi-
plier effect in fiscal policy is the idea that
every one dollar change in fiscal policy—
whether it be an increase in spending or a
decrease in taxes—creates a greater than
one dollar change in the national income.
In other words, the effects of changes in
fiscal policy are multiplied.

Supvose the federal government finds
that business investment is dropping. It
fears a recession. To prevent a recession,
in the next budget, the government
decides to spend an extra $10 billion to
stimulate the economy. How will this
affect the economy?

With this government spending, demand,
income, and GDP will increase by $10
billion. After all, if the government buys an
extra $10 billion of goods and services, then

Chapter 15 & Section 2

A During the

Depression, the

government's
i Works Progress
Administration
{WPA) hired artists
to paint murals in
public places like
this California post
office.

multiplier effect the
idea that every one
dollar of government
spending creates more
than one doflar in
economic activity
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an extra $10 billion of goods and services
have been produced. However, the GDP

"will increase by more than $10 billion.

Here’s why:

The businesses that sold the $10 billion
in goods and services to the government
have earned an additional $10 billion.
These businesses will spend their addi-
tional earnings on wages, raw materials,
and investment, sending money to
workers, other suppliers, and stock-
holders. What will the recipients do with
this money? They will spend part of it,
perhaps 80 percent, or $8 billion. The
businesses that benefit from this second
round of spending will then pass it back to
households, who will again spend 80
percent of it, or $6.4 billion. The next
round will add an additional $5.1 billion
to the economy, and so on. When all of
these rounds of spending are added up,
the initial government spending of $10
billion leads to an increase of $50 billion
in GDP. The multiplier effect gives fiscal
policy initiatives a much bigger kick than
the initial amount spent. ‘
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The United States experienced strang economic swings
before World War 1.

Government How do the years after the war show the
effect of automatic stahilizers on the economy?

Automatic Stabilizers

Fiscal policy is used to achieve many
economic goals. One of the most important
things that fiscal policy can achieve is a
more stable economy. A stable economy is
one in which there are no rapid changes in
the economic indicators you read about in
Chapter 12. What’s more, set up propetly,
fiscal policy can come close to stabilizing
the economy automatically.

Figure 15.6 shows how real GDP in the
United States changed each year from 1920
to 2000. Prior to World War I, there were
much larger changes in GDP from year to
year than after World War II. Although
GDP still fluctuates, these fluctuations have
not been as large as they were before World
War II. Economic growth has been much
more stable in the United States in the last
50 years.

Why did this happen? After the war,
federal taxes and spending on transfer
payments—two key tools of fiscal policy—
increased sharply. Taxes and transfer
payments, or transfers of cash from the
government to consumers, stabilize
economic growth, When national income is
high, the government collects more in taxes
and pays out less in transfer payments. Both
of these actions take money away from
consumers, and therefore reduce spending.
This decrease in spending balances out the
increase in spending that results from rising
income in a healthy economy.

The opposite is also true. When income
in the country is low, the government
collects less in taxes and pays out more in
transfer payments. Both actions increase
the amount of money held by consumers,
and thus increase spending. This increase in
spending balances against the decrease in
spending that results from falling income.

As the graph shows, taxes and transfer
payments do not eliminate changes in the
rate of growth of GDP, but they do make
these changes smaller. They are known a5
stabilizers because they work to stabilize
economic growth. It is important to not¢
that policymakers do not have to make
changes in taxes and transfer payments for
them to have their stabilizing effect. Taxes




and most transfer payments are tied to the
GDP and to personal income, so they
change automatically. Thus, taxes and
transfer payments are known as automatic
stabilizers. ‘

Some stabilizers are no longer automatic.
The former Aid to Families with Dependent
Children, often called “welfare,” lost its
entitlement status in 1996 and wwas
renamed Temporary Assistance for Needy
Families (TANF). Now, the federal govern-
ment gives the states a set amount of money
each year to spend as they wish. However,
the stabilizer effect was not completely lost.
When the economy boomed in the late
1990s, state spending on TANF fell,

Apply-Side Hsonomics
Another school of economic thought,
supply-side economics, promotes a different
direction for fiscal policy. Supply-side
s3onemies stresses the influence of taxation
on the economy. Supply-siders believe that
texes have strong negative influences on
economic output. While Keynesian eco-
nomics uses government to change aggre-
gate demand, supply-side economics tries
to increase economic growth by increasing
aggregate supply.

az Lafier Curye

Supply-side economists often use the Laffer
curve, named after the economist Arthur
Laffer, to illustrate the effects of taxes.
The Laffer curve shows the relationship
between the tax rate set by the government
and the total tax revenue that the govern-
- ment collects. The total revenue depends
on both the tax rate and the health of the
economy. The Laffer curve illustrates that
lugn tax rates may not bring in much
revenue if these high tax rates cause
~ economic activity to decrease.

Figure 15.7 depicts the Laffer curve.
Suppose the government imposes a tax on
the wages of workers. If the tax rate is zero,
as at point a on the graph, the government
will collect no revenue, although the
tconomy will prosper from the lack of
taxes. As the government raises the tax

High
revenues
w
&
=
=
3]
-
e
=
g .
Low
revenues *\ ¢
0% x% 100%
Low taxes High taxes

Tax rate

rate, it starts to collect some revenue.
Follow this change in Figure 15.7 by
tracing the curve from no taxes at point a
to X percent taxation at point b, !

To the left of point b on the curve, higher |
tax rates will discourage some people from
working as many hours and prevent f
companies from investing and increasing
production. The net effect of a higher tax |
rate and a slightly lower tax base is an
increase in revenue.

To the right of point b, the decrease in
workers’ effort is so large that the higher
tax rate decreases total tax revenue. In
other words, high rates of taxation will
eventually discourage so many people from
working that tax revenues will fall sharply.

In the extreme case of a 100 percent tax
rate. no one \vnul(‘l strant sunel-t T thie
case, shown at point ¢ on the curve, the !
government would collect no revenue.,

Taxes and Ouiput

The heart of the supply-side argument is
that a tax cut increases total employment
so much that the government actually
collects more in taxes at the new, lower tax
rate. Suppose the initial tax on labor is $3

an hour, and the typical worker works 30

According to the Laffer curve, both a high
and a low tax rate can produce the same
revenues. Incentives Why do higher tax
rates somalimss causs revanuss to fall?

autematic stabilizer 2
government program
that changes
automatically
depending on GDP and
a person’s income

supply-side economies
a school of economics
that believes tax cuts
can help an sconomy
by raising supply
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Counci! of Economic
Advisers {CEA) a group
of three respected
economjsts that advise
the President on
economic policy
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Tax rates varied widely throughout the last century.
Governmant When were top marginal income tax rates
at their highest?

hours per week, paying a total of $90 in
taxes each week. If the government cuts
the tax on labor to $2 an hour, and the
worker responds by working 50 hours per
week, the worker will pay $100 in taxes a
week, an increase of $10. If all
workers respond to the tax cut by
working this much harder, the tax
eut will increace total revenue.
Actual experience has proven that
while a tax cut encourages some
workers to work more hours, the
end result is a relatively small
increase in the number of hours

< Increasing production during World
War It finally ended the high unemploy-
ment of the 1930s.

worked. In the example above, if the tay
cut increased the hours worked from 3¢
hours to 35 hours, the worker would pay
only $70 in taxes ($2 per hour times 3§
hours), down from $90 ($3 per hour times
30 hours). In general, taxpayers do not
react strongly enough to tax cuts to

increase tax revenue. '

Fiscal Policy in

American History

As you recall, Keynes presented his ideas at
the same time that the world economy was
still engulfed in the Great Depression,
President Herbert Hoover, influenced by
classical economics, thought that the
economy was basically sound and would
return to equilibrium on its own. His
popular successor, President Franklin D.
Roosevelt, was much more willing to
increase government spending to help lift
the economy out of depression. After the
Democratic party won landslide victories
in the 1932 and 1934 federal elections,
Roosevelt started several programs to
pump money into the economy.

YWorld War 1l

Keynes’s theory was fully tested in the

United States during World War II. As the

country geared up for war, government

spending increased dramatically. The

government spent lﬁtrge sums of money to

feed soldiers and equip them with every-

thing from warplanes to rifles to medical

supplies. This money was given to the

private sector in exchange for goods. Just

as Keynesian economics predicted, the

additional demand for goods and services

moved the country sharply out ot the

Great Depression and toward full produc

tive capacity. After the war, Congress

created the Council of Economic Advisers

{CEA), a group of three respected econo-
mists that could advise the President on

economic policy. '




The Kennedy Administration

Between 1945 and 1960, the U.S. economy
was healthy and growing, despite a few
minor recessions. The last recession
continued into the term of President John E
Kennedy, with unemployment at 6.7 percent,

Kennedy’s chief financial policy advisor
was Walter Heller, a Keynesian who
thought that the economy was below its
productive capacity. Heller believed that
unemployment would fall to 4 percent if
the economy were at full capacity. He
convinced Kennedy that tax cuts would
stimulate demand and bring the economy
closer to full productive capacity.

As Figure 15.8 shows, tax rates were
extremely high in the early 1960s. The
highest individual income tax rate was
about 90 percent, compared to about 40
percent today. The top business rate was
52 percent, compared with 3§ percent in
recent years. So Kennedy proposed tax
cuts, both because hie agreed with Heller,
and because tax cuts are popular

A'modified version of Kennedy’s fax-euts
was enacted in 1964, after Kennedy’s assas-
sination. At the same time, the Vietnam
War raised government spending, Over the
DeXt two years, the economy grew rapidly,
Consumption and the GDP increased by
more than 4 percent a year. While there s
no way to prove that the tax cut caused this
increase, the result is what Keynesian

economics had predicted,

-.Sestion2 Assessment

 Key Terms and Main Ideas

1. Whatis the central idea of classical economics?
2. Why is full-employment output another way to describe

productive capacity?

3. Compare and contrast Keynesian economics and

supply-side economics.
4. Explain the multiplier effect.

Supply-Side Policies in

the 1980s

Keynesian economics was used
on many other occasions in the
1960s and 1970s to try to
adjust the national economy.
During the late 1970, however,
unemployment and inflation

_rates soared. Ronald Reagan

became President in 1981 and
instituted new policies based on
supply-side_ _economics. In
1981, Reagan proposed a tax
cut that was put in place and
reduced taxes by 25 percent
over three vyears. Unlike

THE WALL STREET JOURNAL.
In the News As the following excerpt
from a Wall Street Journal Classroom
Edition article shows, tax cuts that
reward specific types of spending
multiplied in the 1990s;

“. .. the White House proposed
nearly a tax credit a day, each one
designed to ease some pocket of
concern in the prosperous economy.
There is a new tax credit for people
providing home care to disabled
relatives and one for businesses that
help immigrant employees learn
English.”

Keynes, Reagan did not believe that ‘
government spending should be used to |
bring the economy out of a recession. After l
a brief but harsh recession in 1982, caused !
partly by the Fed’s tightening of the money
supply to reduce inflation, the economy

recovered and flourished.

For many reasons, however, government
spending continued to rise each year while
Reagan was in office. During the Reagan |
and George H.W. Bush presidencies and |
the first years of Bill Clinton’s first term, the
federal government spent much more

money than it took in. This gap caused

increasing concern among economists and |
policymakers. In the next section, you’ll ]

read about these concerns in detail,

Applying Economic Concepts

R T ATy pam e b et e e

ey

investment and increase employment and wages?

6. . 77 Keynes suggested that building pyramids was

good for the Egyptian economy. Why would Keynes have

suggested this, and can you think of an analogy in our
society for the building of the pyramids? Explain your

answer,

BBl Take It to
=== the NET

Write a brief essay describin

g the life, times, and ideas of John Maynard Keynes. Use the links
provided in the Social Studies area at the following Web site for help in completing this
activity. www.phschool.com
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Objectives 4
After studying this section you will be able to:

1. Explain the importance of balancing the
budget.

2. Analyze how budget deficits add to the
national deht.

3. Summarize the problems caused by the
national debt.

4, ldentify how a government can reduce
budget deficits and the national debt.

costs of debt.

Section Focus Key Terms
Fiscal policy decisions can lead the halanced budget
federal government to spend more budget surplus
money than it brings in, causing hudget deficit
budget deficits and a national debt. hyperinfiation
Economists, lawmakers, and citizens Treasury hill
debate whether the benefits of Treasury note
government spending outweigh the Treasury bond

national debt

crowding-out effect

7\ syou have learned, the federal govern-
; \ment uses fiscal policy—taxing and
spending—to make changes in the
economy. Fiscal policy is a powerful tool.
It can be used to help stimulate demand,
increase production, create jobs, increase
GDP, avoid recessions, control inflation,
and stabilize economic growth. As you’ll
read in this section, raising government
spending can lead to yearly budget deficits
that add up to an enormous debt. The
costs of this debt must be measured
against the benefits of higher government
spending.

Salancing the Budget

The basic tool of fiscal policy is the federal

budget. It is made up of two fundamental

parts: revenue (taxes) and expenditures

{(spending programs). When the federal
e e P N 4

~— —_—.

tures in any particular year, the federal
zovernment has a balanced budget. There is
the same amount of money going into and
coming out of the Treasury.

In reality, the federal budget is almost
never balanced. Usually, it is either running
a surplus or a deficit. A budget surplus
occurs in any year when revenues exceed
expenditures. In other words, there is more

B I - -

money going into the Treasury than coming

out of it. A hudget deficit occurs in any year

when expenditures exceed revenues. In
other words, there is more money coming
out of the Treasury than going into it.

Chapter 15 = Section 3

balanced budget a
budget in which
revenues are equal to
spending

budget surplus a
situation in which the
government takes in
more than it spends

budget deficit 2
situation in which the
government spends
more than it takes in

B <{ Until recently the

national debt, the
sum of all the money
owed by the federal
government, seemed
to be spiraling out of
control.
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Budget deficits swelled in the 1980s and early 1990s.
Soaiane a0 What was the dominant trend in deficits in
the late 1990s?

i Assume the federal government starts

with a balanced budget. If the government
decreases expenditures without changing
anything else, it will run a budget surplus.
Similarly, if it increases taxes—revenues—
without changing anything else, it will run
a surplus.

The same sort of analysis describes
budget deficits. If the government increases
expenditures without changing anything
else, it will run a deficit, Similarly, if it
decreases taxes without changing anything
else, it will run a deficit. The deficit can
grow or shrink because of forces beyond
the government’s control. During a reces-
1 sion, fewer people are working, and tax
revenues fall as spending on antipoverty
programs rises. Surpluses and deficits can
be very large figures. The largest deficit was
about $290 billion, in 1992.

Responding to Budget Deficits
When the government runs a deficit, that
hyperinflation very means it did not take in enough revenue to

happens, the government must find a way
to pay for the extra expenditures. There are
two basic actions the government can take
to do so.

Creating Money

The government could create new money to
pay salaries for its workers and benefits for
citizens. Traditionally, governments simply
printed the bills they needed. Today, the
government can create money electronically
by depositing money in people’s bank
accounts. The effect is the same. This
approach works for relatively small deficits,
but can cause severe problems when there
are large deficits, Why?

When the government creates more
money, it increases the amount of money
in circulation. This increases the demand
for goods and services and can increase
output. But once the economy reaches full
employment, output cannot increase. The
increase in money will mean that there are
more dollars, but the same amouni of
goods and services. Prices in the economy
rise so that a greater amount of money will
be needed to purchase the same amount of
goods and services. In other words, prices
go up, and the result is inflation. As you
read in Chapter 13, high levels of inflation
are a serious economic problem.

Covering very large deficits by printing
more money can cause very high inflation,
called hyperinflation. This happened in
Germany and Russia after World War I,
Brazil and Argentina in the 1980s, and
Ukraine in the 1990s. If the United States
experienced hyperinflation, a shirt that cost
$30 in June might cost $50 in July, $80 in
August, and $400 in December!

IRV YRV Y FEF T VIV IvE- )

As an alternative to creating money t0
cover a budget deficit, the federal govern-
ment can borrow money. The government
commonly borrows money by selling
bonds. As you read in Chapter 11, a bond
is a type of loan: a promise to repay money
in the future, with interest, Consumers and
businesses buy bonds from the govern
ment. The government thus has the mon¢y

| high inflation cover its expenses for the year. When this
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to cover its budget deficit. In  STATES QA ERICA \
return, the purchasers of the v 6 7
bonds earn interest over time.

United States  Savings
Bonds allow millions of ey ; : A B 2
Americans to lend Small AT F A EED (xS EXE rEryyz 75 A A e AL T S eV KOS ,_. %
amounts of money to the FE ) : R DSRIES ORRBIMIE

federal government for a
period as brief as three
months or as long as 30 years.
In return, they earn interest
on the bonds. Other common
forms  of  government
borrowing are Treasury bills,
Treasury notes, and Treasury
bonds. Treasury bills are
short-term bonds that must
be repaid within a year or
less. Treasury notes cover
periods from ftwo to ten
years. Treasury bonds may be
issued for as long as 30 years.
Federal borrowing lets the
government undertake more
projects than it could otherwise afford.
These include projects such as building
airports, highways, and national parks.
Wise borrowing allows the government to
create more public goods and services.
Federal borrowing, however, also has
serious disadvantages.

I'he National Dabt

One problem with the government
borrowing money is that it creates a
national debt. The national debt is the total
amount of money the federal government
owes to bondholders. Every year that
there is a budget deficit, and the federal
government borrows money to cover it,
Ule NAlloNal UeDL WLl grow,

The national debt is owed to investors
who hold Treasury bonds, bills, and notes.
If you have a federal savings bond, that
bond represents money you have loaned
the government. The national debt is
owned by investors in the United States
and around the world who have put their
money and their trust in the federal govern-
ment. In this way, a modest national debt is
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good because it offers a safe investment for
individuals and businesses.

The Ditfsranse Betyeen Deficit

A Dabi

Many people are confused about the differ-
ence between the deficit and the debt. The
deficit is the amount of money the govern-
ment borrows for one budget, representing
one fiscal year. The debt, on the other hand,
is a sum of all the government borrowing
up to that time, minus the borrowings that
have been repaid. The debt is the total of all
deficits and surpluses.

WMeasuring the National Dabt
In dollar terms, the size of the national debt
1s exrremely large. At the end of the twen-
tieth century, it exceeded $5 trillion! Such
large numbers can be confusing. A more
useful way to evaluate the size of the debt
is to look at it as a percentage of GDP.
Historically, debt as a percentage of GDP
rises during wartime, when government
spending increases faster than taxation,
and falls during peacetime. This can be
seen in the graph in Figure 15.10,

Chapter 15 & Section 3
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2\ Inthe past,
governments often
just printed more
bills to fund govern-
ment spending.

Treasury hill a
government bond that
is repaid within three
months to a year

Treasury note a
oovernment hond that
is repaid within two to
ten years

Treasury bond a
government bond that
can be issued for as
long as 30 years

national debt aff the
money the federal
government owes to
bondholders

405




crowding-out effect
the loss of funds for
private investment due
to government
borrowing

Notice how the pattern changed in the
1980s, when the United States began to run
a large debt, even though the country
wasn’t at war. The debt was in part a result
of increases in spending during President
Ronald Reagan’s terms. As you read in the
previous section, the Reagan administra-
tion also lowered tax rates to pull the
economy out of a recession. The combined
effect of higher spending and lower tax
rates was several years of increased budget
deficits. The government borrowed billions
of dollars to cover these deficits, adding to
the national debt. Meanwhile, an economic
downturn in 1981-1982 reduced GDP. As
a result, the ratio of debt to GDP grew very

- large for peacetime.

Is the Dbt a Problem?

The growth of the national debt during the
Reagan administration led many to focus
on the problems caused by a national debt.
In general, two problems can arise from a
national debt.

Percentage of GDP
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War puts special strains on government spending,
and governments borrow money to pay the high costs.
Government What must governments do when the

Problems of a National Deht

The first problem with a national debt is
that it reduces the funds available for busi-
nesses to invest. This is because in order to
sell its bonds, the government must offer
a high interest rate to attract buyers.
Tndividuals and businesses, attracted by
the high interest rates and the security of
investing in the government, use their
savings or profits to buy government bonds,

However, every dollar spent on a govern-
ment bond is one fewer dollar that can be
invested in private business. Less money is
available for companies to expand their
factories, conduct research, and develop
new products, and interest rates rise.
Fconomists call this the crowding-out sifact,
because federal borrowing “crowds out”
private borrowing by making it harder for
private businesses to borrow. A national
debt, then, can hurt investment and slow
economic growth over the long run. On the
other hand, more investment in the private
sector can lead to lower prices, more jobs,
and overall higher standards of living,

The second problem with a high national
debt is that the government must pay
interest to bondholders. The more the
government borrows, the more interest it
has to pay. Paying the interest on the debt is
sometimes called servicing the debt. Over
time, the interest payments have become
very large. At the beginning of the twenty-
first century, the federal government spent
about $250 billion a year servicing the
debt. Moreover, there is an opportunity
cost—dollars spent servicing the debt
cannot be spent on something else, like
defense, health care, or infrastructure.

Nthar Vimys of 2 Matinnal Debt
Not everyone agrees that the national aebt
is such a large problem. Traditional
Keynesian economists believe that fiscal
policy is an important tool that can be used
to help achieve full productive capacity. T0
these analysts, the benefits of a productive
economy outweigh the costs of interest 0n
national debt. :

However, a budget deficit can only be an
effective tool if it is temporary. If the
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The federal government spends more
than it takes in, and has to borrow
money to cover the deficit.

government runs large budget deficits each
year, the costs of the growing debt will
eventually outweigh the benefits.

Deficits, Surpluses, and the
Mational Debi

During the 1980s and into the 1990s,
annual budget deficits added substantially
to the national debt. Several factors frus-
irated lawmakers in their attempts to
control the deficits. As we have seen, much
of the budget consists of entitlement
spending that is politically difficult to
change. Another large part of the budget
consists of interest that must be paid to
bondholders. Finally, specific budget cuts
are often opposed by groups affected.

tHtorts to Reduce Deficits

Concerns about the budget deficits of the
mid-1980s caused Congress to pass the
Gramm-Rudman-Hollings Act, which
created automatic across-the-board cuts in
federal expenditures if the deficit exceeded
a certain amount. This saved lawmakers
from having to make difficult decisions
about individual funding cuts. The Act
exempted significant portions of the budget
(such as interest payments and many enti-
tlement programs) from the cuts.

When the Supreme Court found that
significant portions of the Act were uncon-
stitutional, Congress attempted to correct
the flaws. In 1990, however, lawmakers
realized that the deficit was going to be
much Jarger than expected. Because

Investors trust the U.S, government
and loan money to the government

by buying bonds.

Banks and invéstors have less
money to lend private businesses.
Private businesses must pay a higher

interest rate to horrow scarce money.

Government borrowing “crowds out * private investment by taking away some funds
that coutd have been invested in private business.
Incentives Why do lenders put their money in government bonds?

Congress had exempted so many programs
from automatic cuts, funding for non-
exempt programs would be dramatically
reduced.

To resolve the crisis, President George
H.W. Bush and congressional leaders
negotiated a new budget system that

replaced Gramm-Rudman-Hollings. The °

1990 Budget Enforcement Act created a
“pay-as-you-go” system that requires
Congress to raise enough revenue to cover

increases in direct spending, so that the

budget deficit cannot grow larger.
In addition, at various times citizens and

politicians have suggested. amending the

Constitution to require a balanced budget.
In 1995, a balanced budget amendment
passed in the House and failed by only a
single vote in the Senate. Supporters argued
that the amendment would force the
federal government to be more disciplined
about its spending. Opponents objected
that a constitutional amend-
ment would not be flexible

i

enough to deal with rapid

changes in the economy.

FrdanfNontinrm Quenhisns

The late 1990s brought a

welcome reversal of fortune.

Unlike the federal government, most
states already require a balanced
hirdnat Hnviavnr cohofvasin el -
the state level may not work for the
federal government. State
requirements range from strict to

For the first time in thirty
years, the President and the
Office of Management and
Budget (OMB) were able to
announce that the government
was running a surplus. How
did this happen? First, the new
budget procedures begun

very weak. At least ten states can
carry over budget deficits into the
next year or horrow money to cover
the deficit. Also, many states have a
“rainy day” fund, where surplus
money is stored to pay for future
deficits. Neither would be allowed
under a federal balanced budget
amendment.
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_under President Bush and extended under
President Clinton did help Congress
control the growth of government
spending. Second, tax increases by
President Clinton in 1993 resulted in more
federal revenue. Finally, the strong
economy and low unemployment during
the 1990s meant that more individuals and
corporations were earning more money—
and thus paying more in taxes.

The Future of Fiscal Policy

The change from deficits to surpluses in the
late 1990s brought with it a vigorous
debate about the best way to use the
surplus. Many people argued that the extra
funds should be used to strengthen Social
Security. An increase in the number of
retirees and a decrease in the number of
working persons is expected to put a
serious strain on the Social Security system.
A budget surplus could be used to reduce
the anticipated shortfall.

When George W. Bush was elected
President in 2000, he carried through on
his campaign promise for a substantial tax
cut that reduced the future surplus. In
addition, as the economy slowed in 2001,

estimates of the future surplus also began
to fall.

Following the September 11, 2001,
attacks on the World Trade Center and the
Pentagon and the deepening recession, the
Office of Management and Budget
reported that the surplus would end and
that the federal government would run a
deficit until 2005. The combination of the
recession and President Bush’s tax cut will
reduce governmental revenues, while the
war on terrorism abroad and the added
costs of domestic security will increase
expenditures. The economic stimutus
package proposed after the September 11th
terrorist attacks also cuts into the surplus.

The balance of the federal budget is
likely to be an issue for some time to come,
As people have become more concerned
about the budget and the size of the
national debt, there is naturally less of a
role for fiscal policy. Many economists and
politicians now see Keynesian fiscal policy
as a way to influence the economy only in
the short term. As you will read in the next
chapter, there is a second governmental
economic tool—monetary policy—that has
become increasingly important.

Saction 3 Assessment

5. Math Practice Use the data in Figure 15.9 to determine
the approximate size of the largest budget deficits in
each of the following decades: {a} 1940s {b) 1960s
{c) 1970s {d) 1990s.

6. Using the Databank Study the Federal Debt and Federal
Deficit graphs on page 542 of the Databank. Summarize
the trends shown in the data for the period from 1980 to
1990 and the period from 1990 to 2000.

LA S T-EN

Key Terms and Main Ideas

1. Whatis a balanced budget?

2. How might a budget deficit be related to the national
! debt?

j 3. How does a Treasury note differ from a Treasury hill?

Applying Economic Goncepts

4 T~ 7T~ You're a lawmaker and vou aetto decide what 7
i to do with this year's budget surplus. Write a brief

| proposal explaining whether the surplus should be used

for new spending, tax cuts, or to buy back bonds and cut
interest payments. Include explanations for your

proposals.

'ttt Craate a flowchart showina how the
creation of money by the government to pay for a budget
deficit can lead to inflation.

Take It to At what rate is the national debt growing or shrinking? How much was the national debton_
your birthday this year? Write a summary of your findings. Use the links provided in the Social

the NET Studies area at the following Web site for help in complieting this activity. i

Il www.phschool.com : i
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